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Q) medixtec japan MX-90 Basic 20 12 18
ICS-313 B: % TCS-173
(
(u Sv/h) (cps), Hlcm(u Sv/h)

0.0 0.5 ,

0.2 1.3 0.8, 0.041

0.2 55 5.0, 0.26

0.1 1.2 0.7, 0.036

0.3 7.0 6.5, 033

0.9 18,5 18.0, 0.92

0.8 0.3, 0.015
0.0 0.2 ,
0.92u Sv/h 168
155p Sv 1.3mSv/ 1mSv/
2) FEI TECNAI F20 21 4 27
(

(u Sv/h) (cps), Hlem(u Sv/h)

0.0 2.0

0.1 2.0,00 0.0

0.5 65 45 0.23

0.0 20 00 00

0.2 55 35 0.8

0.1 15

0.7 41.0 39.0 2.00

2.00(u Sv/h) 7.5(h/d)
5(dw)  13(w/3M) 975( p
Sv/3M)=0.975(mSv/3M) 1.3(mSv/3M)
0.1(p Sv/h)




